

WIGNER'S THEOREM ON THE TSIRELSON SPACE T

YUANXIA LI¹ and DONGNI TAN^{2*}

Communicated by J. Chmieliński

ABSTRACT. We say that a map $f : X \rightarrow Y$ between two real normed spaces is a *phase-isometry* if $\{\|f(x) + f(y)\|, \|f(x) - f(y)\|\} = \{\|x + y\|, \|x - y\|\}$ holds for all $x, y \in X$. Two maps $f, g : X \rightarrow Y$ are called *phase-equivalent* if there is a phase function $\varepsilon : X \rightarrow \{-1, 1\}$ such that $\varepsilon f = g$. By studying the properties of surjective phase-isometries on the Tsirelson space T , we show that such maps are phase-equivalent to linear isometries. This gives a real version of Wigner's theorem for the Tsirelson space.

1. Introduction and preliminaries

Let X and Y be real normed spaces. A map $f : X \rightarrow Y$ is called an *isometry* if it satisfies

$$\|f(x) - f(y)\| = \|x - y\|$$

for all $x, y \in X$. The well-known Mazur–Ulam theorem (see [10]) states that surjective isometries between X and Y are affine (for another proof of the theorem, see [1, Theorem 14.1]). A map f from X to Y is called a *phase-isometry* if

$$\{\|f(x) + f(y)\|, \|f(x) - f(y)\|\} = \{\|x + y\|, \|x - y\|\}, \quad (1.1)$$

for all $x, y \in X$. Two maps $f, g : X \rightarrow Y$ are said to be *phase-equivalent* if there is a phase function $\varepsilon : X \rightarrow \{-1, 1\}$ such that $\varepsilon f = g$. Via this approach, we get the notion of maps which are phase-equivalent to linear isometries. The famous Wigner's theorem gives a characterization of mappings that are phase-equivalent

Copyright 2019 by the Tusi Mathematical Research Group.

Received Sep. 16, 2018; Accepted Feb. 4, 2019.

First published online Oct. 29, 2019.

*Corresponding author.

2010 *Mathematics Subject Classification*. Primary 46B04; Secondary 46B20.

Keywords. Wigner's theorem, T -space, phase-isometry, phase-equivalent.

to linear isometries in Hilbert spaces. That is, if X and Y are real Hilbert spaces, then the phase-isometries $f : X \rightarrow Y$ are precisely the solution of the functional equation

$$|\langle f(x), f(y) \rangle| = |\langle x, y \rangle|, \quad (x, y \in X).$$

One can easily see that, when X and Y are real normed spaces, all maps $f : X \rightarrow Y$ that are phase-equivalent to linear isometries are obviously phase-isometries. In [9], Maksa and Páles proved that the converse also holds provided that X and Y are real inner product spaces; at the end of their article, they posed the following question: Is it still true that every phase-isometry from X to Y is phase-equivalent to a linear isometry when X and Y are real normed but not necessarily inner product space? Huang and the second author [6] gave a positive answer to the above question for atomic L_p spaces with $0 < p < \infty$, while in [7], Jia and the second author also answered the question affirmatively for $L^\infty(\Gamma)$ -type spaces. Wigner's theorem plays a fundamental role in quantum mechanics and has several equivalent formulations and extensions (see, e.g., [4], [5], [11]–[15], [18]).

The aim of this note is to study the same result in the case of surjective phase-isometries on the Tsirelson space (see [17]). The main result (see Theorem 2.8) demonstrates that every surjective phase-isometry on the Tsirelson space is phase-equivalent to a linear isometry. The Tsirelson space is the first example of a reflexive Banach space in which neither an ℓ_p space nor a c_0 space can be embedded (see [8], [17]). Figiel and Johnson gave in [3] the implicit expression of the norm of T which is displayed in (1.2) below. It is the dual of the original that came to be known as *Tsirelson space*, and it is denoted in the literature by T . It is our belief that one of the goals of functional analysis ought to be the study of individual spaces. Our hope is that the result of the present article can give some impetus to the study of T and its generalized spaces (see [2]).

For the reader's convenience, we present the description by Figiel and Johnson from [3] (see [1] and [2] for more information about the space T). Let c_{00} be the space of all finitely supported real sequences whose unit vector basis will be denoted by $\{e_i\}$. For any finite subset E of \mathbb{N} and $x \in c_{00}$, Ex is the sequence which agrees with x at coordinates in E and is zero in other coordinates; that is, if $x = \sum a_i e_i$, then $Ex = \sum_{i \in E} a_i e_i$. We will consider 1-unconditional norms on c_{00} . Thus, $\|Ex\| \leq \|x\|$.

Given two finite subsets E, F of \mathbb{N} , we write $E < F$ if $\max E < \min F$. If $E = \{i\}$ is a singleton, then we simply write i instead of $\{i\}$. A collection $\{E_j\}_{j=1}^k$ of finite subsets of \mathbb{N} is called *admissible* if $k \leq E_1 < \dots < E_k$.

The sup norm on c_{00} is denoted by $\|\cdot\|_{c_0}$. Define a sequence of norms on c_{00} as follows. Let $\|x\|_0 = \|x\|_{c_0}$, and for all $m \geq 0$, let

$$\|x\|_{m+1} = \max\left(\|x\|_{c_0}, \frac{1}{2} \sup\left\{\sum_{j=1}^k \|E_j x\|_m\right\}\right),$$

where the sup is taken over all admissible collections $\{E_j\}_{j=1}^k$. It is easy to check that $\|x\| = \lim_{m \rightarrow \infty} \|x\|_m$ exists. The Tsirelson space T is the completion of $(c_{00}, \|\cdot\|)$. The norm $\|\cdot\|$ satisfies the implicit equation

$$\|x\| = \max\left(\|x\|_{c_0}, \frac{1}{2} \sup\left\{\sum_{j=1}^k \|E_j x\|\right\}\right), \tag{1.2}$$

where the sup is taken over all admissible collections $\{E_j\}_{j=1}^k$.

Throughout this paper, we use S_T to denote the unit sphere of T . All the vector spaces we consider here are assumed to be real. For any $a, b \in \mathbb{R}$, we will write $a \vee b = \max\{a, b\}$, $a \wedge b = \min\{a, b\}$. For every $x \in T$,

$$\text{supp } x := \{i \in \mathbb{N}, x(i) \neq 0\}.$$

2. Main results

For our main results, we need a basic lemma from [16].

Lemma 2.1 ([16, Lemma 2.1]). *Let x, y be in S_T . Then we have the following:*

- (1) $\|x + z\| \wedge \|x - z\| \leq 1$ for all $z \in S_T$ if and only if $x \in \{\pm e_1, \pm e_2\}$;
- (2) if y is supported in $[3, \infty)$ and satisfies $\|y + z\| \wedge \|y - z\| \leq \frac{3}{2}$ for all $z \in S_T$, then either $|y(3)| = 1$ with $|y(i)| \leq \frac{1}{2}$ for all $i \neq 3$ or $y = \theta e_m + a e_3$ for some $m \geq 4$, some $\theta \in \{\pm 1\}$, and some $|a| \leq \frac{1}{2}$.

We give a lemma demonstrating that every phase-isometry on any normed space X enjoys some interesting properties. One may note that every phase-isometry f from a normed-space X to another normed space Y preserves the norm; that is, $\|f(x)\| = \|x\|$. Indeed, it is easy to see from (1.1) that

$$\{2\|f(x)\|, 0\} = \{\|f(x) + f(x)\|, \|f(x) - f(x)\|\} = \{2\|x\|, 0\} \quad (\forall x \in X).$$

Lemma 2.2. *Let X and Y be two normed-spaces, and let $f : X \rightarrow Y$ be a surjective phase-isometry. Then f is odd and injective.*

Proof. Note first that $f(0) = 0$ and $f(x) = 0$ if and only if $x = 0$. To see that f is odd, given $0 \neq x \in X$, suppose that $f(y) = -f(x)$ for some $y \in X$. Since

$$\{\|y + x\|, \|y - x\|\} = \{\|f(y) + f(x)\|, \|f(y) - f(x)\|\} = \{0, 2\|f(x)\|\},$$

it follows that $y = -x$ since $y = x$ is impossible. Thus, f is odd. Now assume that $f(x_1) = f(x_2)$ with $x_1, x_2 \in X$. Then the equations

$$\|x_1 - x_2\| \wedge \|x_1 + x_2\| = \|f(x_1) - f(x_2)\| \wedge \|f(x_1) + f(x_2)\| = 0$$

prove that $x_1 = x_2$ or $x_1 = -x_2$. We induce from the fact that f is odd that $x_1 = x_2$. So f is injective. The proof is complete. □

Lemma 2.2 reveals that the inverse of every surjective phase-isometry is also a surjective phase-isometry. By this and Lemma 2.1, we will give a characterization of every surjective phase-isometry on T .

Lemma 2.3. *Let $f : T \rightarrow T$ be a surjective phase-isometry. Then f has one of the following forms:*

- (1) $f(e_j) = \pm e_j$ for all $j \geq 1$,
- (2) $f(e_1) = \pm e_2$, $f(e_2) = \pm e_1$, $f(e_j) = \pm e_j$ for all $j \geq 3$.

Proof. By the hypothesis, for every $y \in S_T$ there is an $x \in S_T$ satisfying $f(x) = y$. Since f satisfies (1.1), it follows that

$$\|f(e_1) - y\| \wedge \|f(e_1) + y\| = \|e_1 - x\| \wedge \|e_1 + x\| \leq 1.$$

Lemma 2.1(1) allows us to conclude that $f(e_1) = \pm e_1$ or $f(e_1) = \pm e_2$. Similar arguments to those above show that $f(e_2) = \pm e_1$ or $f(e_2) = \pm e_2$. Notice that

$$\|f(e_1) \pm f(e_2)\| = 1.$$

It must actually be

$$f(e_1) = \pm e_1, \quad f(e_2) = \pm e_2,$$

or

$$f(e_1) = \pm e_2, \quad f(e_2) = \pm e_1.$$

Now we deal with the case where $j \geq 3$. Since f is a phase-isometry, for $i = 1, 2$, we have

$$\{\|f(e_j) + f(e_i)\|, \|f(e_j) - f(e_i)\|\} = \{\|e_j + e_i\|, \|e_j - e_i\|\} = \{1\}.$$

It follows that $\text{supp } f(e_j) \subset [3, \infty)$. Note that for every $y \in S_T$ with $f(x) = y$, we have

$$\|f(e_j) - y\| \wedge \|f(e_j) + y\| = \|e_j - x\| \wedge \|e_j + x\| \leq 3/2.$$

Thus, by Lemma 2.1(2) there is an $i_j \in \mathbb{R}$ such that $|f(e_j)(i_j)| = 1$. For every $k \neq j$, note that

$$\begin{aligned} (1 \pm f(e_k)(i_j)) \vee (1 \pm f(e_j)(i_k)) &\leq \|f(e_k) + f(e_j)\| \vee \|f(e_k) - f(e_j)\| \\ &= \|e_k + e_j\| \vee \|e_k - e_j\| = 1. \end{aligned}$$

Therefore, $f(e_j)(i_k) = f(e_k)(i_j) = 0$. Additionally, the equations $\|f(e_j) \pm f(e_k)\| = 1$ ensure that

$$f(e_j) = \pm e_{i_j}.$$

To see our conclusion, it is enough to prove that $i_j = j$. By Lemma 2.2, the inverse $f^{-1} : T \rightarrow T$ is a surjective phase-isometry. Thus,

$$\bigcup_{j \geq 1} \text{supp } f(e_j) = \mathbb{N}.$$

Consider the unit vector $x_j = \sum_{k=j}^{2j-1} \frac{2}{j} e_k$. Observe from the identity (1.2) that, for every $3 \leq j \leq k \leq 2j - 1$,

$$\|f(e_k) + f(x_j)\| \wedge \|f(e_k) - f(x_j)\| = \|e_k + x_j\| \wedge \|e_k - x_j\| = \frac{3}{2} - \frac{2}{j}.$$

Thus the support of $f(e_k)$, which is i_k , satisfies $i_k \in \text{supp } f(x_j)$ and

$$|f(x_j)(i_k)| = \frac{2}{j}. \tag{2.1}$$

On the other hand, for every $k \geq 2j$ and $k < j$, we have

$$\|f(e_k) + f(x_j)\| = \|f(e_k) - f(x_j)\|.$$

It follows that

$$\text{supp } f(x_j) \cap \text{supp } f(e_k) = \emptyset,$$

for all $k \geq 2j$ and $k < j$. As a consequence,

$$\text{supp } f(x_j) = \{i_j, \dots, i_{2j-1}\}.$$

This together with (2.1) proves that $i_j \geq j$. Since Lemma 2.2 yields that f^{-1} is a surjective phase-isometry, we apply the same arguments as above to f^{-1} to give $i_j = j$. The proof is complete. \square

Using the previous characterization, we will establish that every phase-isometry on T has a property for the unit vector basis $\{e_j\}$ in terms of homogeneity.

Lemma 2.4. *Let $f : T \rightarrow T$ be a surjective phase-isometry. Then $f(\lambda e_j) = \pm \lambda f(e_j)$ for every $j \in \mathbb{N}$ and $0 \leq \lambda \in \mathbb{R}$.*

Proof. We may assume that f has form (1) of Lemma 2.3 since a minor modification of the proof also applies to the case that f is of form (2). Then it follows from this that, for every $j \geq 1$ and every $0 \leq \lambda \in \mathbb{R}$,

$$\begin{aligned} \{\|f(\lambda e_j) + e_j\|, \|f(\lambda e_j) - e_j\|\} &= \{\|f(\lambda e_j) + f(e_j)\|, \|f(\lambda e_j) - f(e_j)\|\} \\ &= \{\lambda + 1, |\lambda - 1|\}. \end{aligned}$$

As a consequence, $f(\lambda e_j)(j) = \pm \lambda$. On the other hand, for every $i \neq j$,

$$\|f(\lambda e_j) + f(\lambda e_i)\| = \|f(\lambda e_j) - f(\lambda e_i)\| = \lambda.$$

This implies that $f(\lambda e_j)(i) = 0$. The proof is complete. \square

We are ready for a proposition that will be used repeatedly in what follows. It establishes that every surjective phase-isometry on T preserves the absolute value of vectors' coordinates.

Proposition 2.5. *Let $f : T \rightarrow T$ be a surjective phase-isometry. Then for every $x = (\xi_j) \in T$, we have $f(x) = (\eta_j) \in T$ satisfying either $|\eta_j| = |\xi_j|$ for all $j \in \mathbb{N}$ or $|\eta_2| = |\xi_1|$, $|\eta_1| = |\xi_2|$, $|\eta_j| = |\xi_j|$ for all $j \geq 3$.*

Proof. To prove our proposition, we first give an observation that, for every $j \in \mathbb{N}$, the equality

$$\|\theta M e_j + x\| = M + |\xi_j| \tag{2.2}$$

holds for all $x = (\xi_i) \in T$ with $\theta = \text{sign } \xi_j$ and $M \geq 2\|x\|$. It is clear that

$$\|E(\theta M e_j + x)\| = \|E x\| \leq \|x\|$$

for any finite subset E of \mathbb{N} which does not contain j . By the definition of the T norm (using the identity (1.2)), it suffices to consider those admissible collections $\{E_i\}_{i=1}^k$ for which j is included in some E_{i_0} , where $1 \leq i_0 \leq k$. Then $E_i(\theta M e_j + x) = E_i x$ for all $i \neq i_0$, and thus

$$\begin{aligned}
\frac{1}{2} \sum_{i=1}^k \|E_i(\theta M e_j + x)\| &= \frac{1}{2} \left(\sum_{i=1, i \neq i_0}^k \|E_i x\| + \|E_{i_0}(\theta M e_j + x)\| \right) \\
&\leq \frac{1}{2} \left(\sum_{i=1, i \neq i_0}^k \|E_i x\| + \|E_{i_0} x\| + \|E_{i_0}(\theta M e_j)\| \right) \\
&\leq \|x\| + \frac{M}{2} \leq M.
\end{aligned}$$

This and the identity (1.2) guarantee that (2.2) is true. For every $x = (\xi_j) \in T$, there is $y = (\eta_j) \in T$ such that $f(x) = y$. By Lemmas 2.3 and 2.4 and (2.2), we see that for every $j \geq 3$,

$$\begin{aligned}
2\|f(x)\| + |\eta_j| &= \|2\|x\|f(e_j) + f(x)\| \vee \|2\|x\|f(e_j) - f(x)\| \\
&= \|f(2\|x\|e_j) + f(x)\| \vee \|f(2\|x\|e_j) - f(x)\| \\
&= \|2\|x\|e_j + x\| \vee \|2\|x\|e_j - x\| = 2\|x\| + |\xi_j|.
\end{aligned}$$

It follows that $|\eta_j| = |\xi_j|$. A minor modification of the previous proof also applies to the case of $j = 1, 2$. This finishes the proof. \square

Given $x \in T$ and $i, j \in \mathbb{N}$, let $\Theta_{ij}(x) = (\theta_n)$, where $\theta_n = \text{sign}(x(n))$ if $n = i, j$ and $\theta_n = 0$ if $n \neq i$ or j . It is easily seen that the element $\Theta_{ij}(x)$ relies on the signs of $x(i)$ and $x(j)$. As Proposition 2.5 indicates that the absolute values of vectors' coordinates are invariant under any surjective phase-isometry of T , the maps $\Theta_{ij}(\cdot)$ will play a role in recognizing the signs of vectors' coordinates under the surjective phase-isometry.

Lemma 2.6. *Let $f : T \rightarrow T$ be a surjective phase-isometry. Then for every $x \in T$ and all $i, j \in \mathbb{N}$, we have*

$$f(\lambda \Theta_{ij}(x)) = \pm \lambda f(\Theta_{ij}(x)) \quad \text{and} \quad \Theta_{ij}(f(x)) = \pm f(\Theta_{ij}(x))$$

for all $i, j \in \mathbb{N}$ and $\lambda > 0$.

Proof. To simplify the notation, we may assume that f has form (1) of Lemma 2.3. We first show that for every $\lambda > 0$,

$$f(\lambda \Theta_{ij}(x)) = \pm \lambda f(\Theta_{ij}(x)) \tag{2.3}$$

for all i, j and $0 \neq x \in T$. By Lemma 2.4 and Proposition 2.5, we may set $f(\Theta_{ij}(x)) = (\theta_n)$ and $f(\lambda \Theta_{ij}(x)) = (\lambda \theta'_n)$, where $|\theta'_i| = |\theta'_j| = |\theta_i| = |\theta_j| = 1$ and $\theta'_n = \theta_n = 0$ for $n \notin \{i, j\}$. Since f is a phase-isometry, we have

$$\begin{aligned}
&\{|\lambda \theta'_i - \theta_i| \vee |\lambda \theta'_j - \theta_j|, |\lambda \theta'_i + \theta_i| \vee |\lambda \theta'_j + \theta_j|\} \\
&= \{\|f(\lambda \Theta_{ij}(x)) - f(\Theta_{ij}(x))\|, \|f(\lambda \Theta_{ij}(x)) + f(\Theta_{ij}(x))\|\} \\
&= \{\lambda + 1, |\lambda - 1|\}.
\end{aligned}$$

As a result, $\theta'_i = \theta_i$, $\theta'_j = \theta_j$ or $\theta'_i = -\theta_i$, $\theta'_j = -\theta_j$. Hence the desired identity (2.3) is proved. To establish that $\Theta_{ij}(f(x)) = \pm f(\Theta_{ij}(x))$, by Proposition 2.5 it is enough to consider two coordinates i and j since other coordinates are all zero. By (2.3) and (1.1), we have

$$\begin{aligned}
 & \|3\|x\|f(\Theta_{ij}(x)) + f(x)\| \wedge \|3\|x\|f(\Theta_{ij}(x)) - f(x)\| \\
 &= \|f(3\|x\|\Theta_{ij}(x)) + f(x)\| \wedge \|f(3\|x\|\Theta_{ij}(x)) - f(x)\| \\
 &= \|3\|x\|\theta_{ij}(x) + x\| \wedge \|3\|x\|\theta_{ij}(x) - x\|. \tag{2.4}
 \end{aligned}$$

Similar arguments to those in the proof of (2.2) in Proposition 2.5, using the definition of the T norm in (1.2), enable us to conclude that

$$\begin{aligned}
 & \|3\|x\|\theta_{ij}(x) + x\| \wedge \|3\|x\|\theta_{ij}(x) - x\| = \|3\|x\|\theta_{ij}(x) - x\| \\
 &= \max\{3\|x\|\theta_{ij}(x) - x\|_{c_0}, 3\|x\|\theta_{ij}(x) - x\|_T\} \\
 &= \max\{3\|x\| - |x(i)| \wedge |x(j)|, 3\|x\|\theta_{ij}(x) - x\|_T\}, \tag{2.5}
 \end{aligned}$$

where $\|\cdot\|_T$ stands for the T norm.

We deduce from (2.5), (2.4), Proposition 2.5, and the identity (1.2) that

$$\Theta_{ij}(f(x)) = \pm f(\Theta_{ij}(x))$$

as required. The proof is finished. □

We will give a lemma showing that every surjective phase-isometry has a property close to linearity. For all $x, y \in T$, to simplify the notation we write $x \perp y$ if $\text{supp } x \cap \text{supp } y = \emptyset$.

Lemma 2.7. *Let $f : T \rightarrow T$ be a surjective phase-isometry. Then we have the following:*

- (1) $f(\lambda x) = \pm \lambda f(x)$ for every $x \in X$, $\lambda \in \mathbb{R}$;
- (2) given $x, y \in T$ with $x \perp y$, there exist (unique) $\alpha(x, y)$ and $\beta(x, y)$ with absolute value 1 such that

$$f(x + y) = \alpha(x, y)f(x) + \beta(x, y)f(y). \tag{2.6}$$

Proof. (1) We may assume that $\lambda > 0$. Fix $x \in T$. By Lemma 2.6, we conclude that for all $i, j \in \mathbb{N}$,

$$\Theta_{ij}(f(\lambda x)) = \pm f(\Theta_{ij}(\lambda x)) = \pm f(\Theta_{ij}(x)) = \pm \Theta_{ij}(f(x)).$$

This combined with Proposition 2.5 yields the desired conclusion.

(2) We induce from Proposition 2.5 that $f(x) \perp f(y)$. Moreover, for all $i, j \in \text{supp } x$, it follows from Lemma 2.6 that

$$\Theta_{ij}(f(x + y)) = \pm f(\Theta_{ij}(x + y)) = \pm \Theta_{ij}(f(x)).$$

Similar equalities also hold by considering “ y ” instead of “ x .” Thus, by Proposition 2.5 we get (2.6). □

Now, we will present our main result.

Theorem 2.8. *Let $f : T \rightarrow T$ be a surjective phase-isometry. Then f is phase-equivalent to a linear isometry.*

Proof. Let L be a subset of the unit sphere of T such that, for every $0 \neq y \in T$, either $y/\|y\|$ or $-y/\|y\|$ belongs to L . Then for every $x \in T$, there exists exactly one $y \in L$ of norm 1 such that $x = \lambda y$ for some $\lambda \in \mathbb{R}$. We define $f' : T \rightarrow T$ by $f'(0) = 0$ and

$$f'(x) = f'(\lambda y) = \lambda f(y), \quad \forall x = \lambda y \in T.$$

Then f' is well defined, homogeneous, and phase-equivalent to f by Lemma 2.7. Therefore, we may assume that f is homogeneous. Fix $i_0 \in \mathbb{N}$, and let

$$Z := \{x \in T : x \perp e_{i_0}\}.$$

By Lemma 2.7(2), for every $z \in Z$ we can write

$$f(z + e_{i_0}) = \alpha(z)f(z) + \beta(z)f(e_{i_0}), \quad |\alpha(z)| = |\beta(z)| = 1$$

for all $z \in Z$. Since f is homogeneous, for every $\lambda \neq 0$, we have

$$f(z + \lambda e_{i_0}) = \alpha\left(\frac{z}{\lambda}\right)f(z) + \beta\left(\frac{z}{\lambda}\right)\lambda f(e_{i_0}).$$

Define a mapping $g : T \rightarrow T$ as

$$g(z) = \alpha(z)\beta(z)f(z) \quad \text{and} \quad g(z + \lambda e_{i_0}) = \alpha\left(\frac{z}{\lambda}\right)\beta\left(\frac{z}{\lambda}\right)f(z) + \lambda f(e_{i_0})$$

for all $z \in Z$ and $0 \neq \lambda \in \mathbb{R}$. It is clear that g is phase-equivalent to f . Hence, g is also a phase-isometry. We will show that for every $z \in Z$ and $0 \neq \lambda \in \mathbb{R}$, we have

$$\alpha(\lambda z)\beta(\lambda z) = \alpha(z)\beta(z). \quad (2.7)$$

It suffices to show that (2.7) holds for every z in the unit sphere of Z . Note first that

$$\begin{aligned} & \left\{ \|g(\lambda z + e_{i_0}) + g(\lambda z - e_{i_0})\|, \|g(\lambda z + e_{i_0}) - g(\lambda z - e_{i_0})\| \right\} \\ &= \{2|\lambda|, 2\}. \end{aligned}$$

It follows that

$$\alpha(\lambda z)\beta(\lambda z) = \alpha(-\lambda z)\beta(-\lambda z).$$

Moreover, for every $\lambda > 0$, we have

$$\begin{aligned} & \left\{ \|(1 + \lambda)z + 2e_{i_0}\|, |1 - \lambda| \right\} \\ &= \left\{ \|g(\lambda z + e_{i_0}) + g(z + e_{i_0})\|, \|g(\lambda z + e_{i_0}) - g(z + e_{i_0})\| \right\} \\ &= \left\{ \left\| (\lambda\alpha(\lambda z)\beta(\lambda z) + \alpha(z)\beta(z))f(z) + 2f(e_{i_0}) \right\|, \right. \\ & \quad \left. \left\| (\lambda\alpha(\lambda z)\beta(\lambda z) - \alpha(z)\beta(z))f(z) \right\| \right\}. \end{aligned}$$

We deduce from this and $\|f(z)\| = \|z\| = 1$ that $\alpha(\lambda z)\beta(\lambda z) = \alpha(z)\beta(z)$. The proof of (2.7) is finished. So $g(Z) = Z$. We will use (2.7) to show that g is an isometry on Z , and thus g is linear on T by the Mazur–Ulam theorem and its definition. For all z_1, z_2 in Z , choose a positive large enough number λ . It is easy to check that

$$\begin{aligned} & \left\{ \|g(z_1) - g(z_2)\|, \|g(z_1) + g(z_2) + 2\lambda g(e_{i_0})\| \right\} \\ &= \left\{ \|g(z_1 + \lambda e_{i_0}) - g(z_2 + \lambda e_{i_0})\|, \|g(z_1 + \lambda e_{i_0}) + g(z_2 + \lambda e_{i_0})\| \right\} \\ &= \left\{ \|z_1 - z_2\|, \|z_1 + z_2 + 2\lambda e_{i_0}\| \right\}. \end{aligned}$$

Since λ is a positive large number, we conclude that $\|g(z_1) - g(z_2)\| = \|z_1 - z_2\|$ for all $z_1, z_2 \in Z$. This completes the proof. \square

Acknowledgments. The authors would like to thank the referees for their constructive comments and suggestions. This paper was written during the second author's visit to the University of Illinois at Urbana-Champaign, and she thanks that institution for its hospitality.

Tan's work was partially supported by National Natural Science Foundation of China grants 11371201, 11201337, and 11201338.

References

1. Y. Benyamini and J. Lindenstrauss, *Geometric Nonlinear Functional Analysis, I*, Amer. Math. Soc. Colloq. Publ. **48**, Amer. Math. Soc., Providence, 2000). [Zbl 0946.46002](#). [MR1727673](#). [515](#), [516](#)
2. P. G. Casazza and T. J. Shura, *Tsirelson's Space*, with appendix "An algorithm for computing the Tsirelson's space norm" by J. W. Baker, O. A. Slotterbeck, and R. Aron, Lecture Notes in Math. **1363**, Springer, Berlin, 1989. [Zbl 0709.46008](#). [MR0981801](#). DOI [10.1007/BFb0085267](#). [516](#)
3. T. Figiel and W. B. Johnson, *A uniformly convex Banach space which contains no ℓ_p* , Compos. Math. **29** (1974), 179–190. [Zbl 0301.46013](#). [MR0355537](#). [516](#)
4. G. P. Gehér, *An elementary proof for the non-bijective version of Wigner's theorem*, Phys. Lett. A **378** (2014), no. 30–31, 2054–2057. [Zbl 1331.46066](#). [MR3226075](#). DOI [10.1016/j.physleta.2014.05.039](#). [516](#)
5. M. Györy, *A new proof of Wigner's theorem*, Rep. Math. Phys. **54** (2004), no. 2, 159–167. [Zbl 1161.81381](#). [MR2107864](#). DOI [10.1016/S0034-4877\(04\)80012-0](#). [516](#)
6. X. Huang and D. Tan, *Wigner's theorem in atomic L_p -spaces ($p > 0$)*, Publ. Math. Debrecen **92** (2018), no. 3–4, 411–418. [Zbl 1399.39052](#). [MR3789693](#). DOI [10.5486/pmd.2018.8005](#). [516](#)
7. W. Jia and D. Tan, *Wigner's theorem in $L^\infty(\Gamma)$ -type spaces*, Bull. Aust. Math. Soc **97** (2018), no. 2, 279–284. [Zbl 1398.46010](#). [MR3772658](#). DOI [10.1017/S0004972717000910](#). [516](#)
8. W. B. Johnson, *A reflexive Banach space which is not sufficiently Euclidean*, Studia Math. **55** (1976), 201–205. [Zbl 0362.46015](#). [MR0430756](#). DOI [10.4064/sm-55-2-201-205](#). [516](#)
9. G. Maksa and Z. Páles, *Wigner's theorem revisited*, Publ. Math. Debrecen **81** (2012), no. 1–2, 243–249. [Zbl 1299.39017](#). [MR2957511](#). DOI [10.5486/PMD.2012.5359](#). [516](#)
10. S. Mazur and S. Ulam, *Sur les transformations isométriques d'espaces vectoriels normés*, C. R. Math. Acad. Sci. Paris. **194** (1932), 946–948. [Zbl 0004.02103](#). [515](#)
11. L. Molnár, *Orthogonality preserving transformations on indefinite inner product spaces: Generalization of Uhlhorn's version of Wigner's theorem*, J. Funct. Anal. **194** (2002), no. 2, 248–262. [Zbl 1010.46023](#). [MR1934603](#). DOI [10.1006/jfan.2002.3970](#). [516](#)
12. A. Mouchet, *An alternative proof of Wigner theorem on quantum transformations based on elementary complex analysis*, Phys. Lett. A **377** (2013), no. 39, 2709–2711. [Zbl 1301.81061](#). [MR3143505](#). DOI [10.1016/j.physleta.2013.08.017](#). [516](#)
13. J. Rätz, *On Wigner's theorem: Remarks, complements, comments, and corollaries*, Aequationes Math. **52** (1996), no. 1–2, 1–9. [Zbl 0860.39033](#). [MR1406619](#). DOI [10.1007/BF01818323](#). [516](#)

14. C. S. Sharma and D. L. Almeida, *A direct proof of Wigner's theorem on maps which preserve transition probabilities between pure states of quantum systems*, Ann. Phys. **197** (1990), no. 2, 300–309. [Zbl 0875.46008](#). [MR1036085](#). [DOI 10.1016/0003-4916\(90\)90213-8](#). [516](#)
15. R. Simon, N. Mukunda, S. Chaturvedi, and V. Srinivasan, *Two elementary proofs of the Wigner theorem on symmetry in quantum mechanics*, Phys. Lett. A **372** (2008), no. 46, 6847–6852. [Zbl 1227.81189](#). [MR2467883](#). [DOI 10.1016/j.physleta.2008.09.052](#). [516](#)
16. D. Tan, *Isometries of the unit spheres of the Tsirelson space T and the modified Tsirelson space T_M* , Houston J. Math. **38** (2012), no. 2, 571–581. [Zbl 1254.46015](#). [MR2954652](#). [517](#)
17. B. S. Tsirelson, *Not every Banach space contains an imbedding of ℓ^p or c_0* , Funct. Anal. Appl. **8** (1974), no. 2, 138–141. [Zbl 0296.46018](#). [DOI 10.1007/BF01078599](#). [516](#)
18. A. Turnšek, *A variant of Wigner's functional equation*, Aequationes Math. **89** (2015), no. 4, 949–956. [Zbl 1321.39025](#). [MR3359685](#). [DOI 10.1007/s00010-014-0296-0](#). [516](#)

¹DEPARTMENT OF MATHEMATICS, TIANJIN UNIVERSITY OF TECHNOLOGY, TIANJIN 300384, PEOPLE'S REPUBLIC OF CHINA.

E-mail address: 295854411@qq.com

²DEPARTMENT OF MATHEMATICS, TIANJIN UNIVERSITY OF TECHNOLOGY, TIANJIN 300384, PEOPLE'S REPUBLIC OF CHINA.

E-mail address: tandongni0608@sina.cn